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5 )177(% @ The number which gives r remainder on dividing by n,
45 can be written in the for where k is an

2 Y integer. _ll,) 2 |7x 6 = 1
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17= 5X?)-|?-Q_ @ If a gives r remainder when divided by n, thel}ska
B A gives kr remainder when divided by n.
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If a and b gives r; and r, remainders respectlvely
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— B 27 when divided by n then
d . Yi4g * a+ bdivided by n, gives remainder r; + 1,
T % A4b « ax b divided by n, gives remainder r; X r,
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. being divided by 52 gives a
remainder 45. If the number is divided by
@thq remainder will be?
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253,Awhen divided by 899 gives a

O T 5 =5 remainder_63. If the same number is divided
— \ ,65’ by 29, the remainder will be:
B9 n + UF HEIT F 899 ¥ HWT &t W AWHH
B 63 TEa ¥ iy 3¢ wEwm 29 ¥ Hr
Qq faar s ar ¢ 4T A9M?
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254.A number when divided by 25 leaves 14
remainder. What is the remainder if this number

[ t4 _:).? is divided by 10?
fFeh w=ar # 25 ¥ fsnfad F&@ W 14
IVJ Y A ¥ R W WEAT F 10 X
snfora AT ST ar 9w Far TAIm?
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255.A when divided by 12 leaves 5
emainder. What is the remainder if square of
this number is divided by 8?
frdll g=ar #r 12 ¥ Rnfog T W 5 AW
9T 81 3R W HEAT & g H 8 X
fasnfera fFar se ar = A T2

a)7 %1 c)5 d) can’t say
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/ 256.A number when divided by 18 leaves a
6 o 7 '_>/]3//7 remainder 7. The same number when divided by

12 leaves a remainder n. How many values can n
_I-
18K+ 7 ——n e
12 T HEAT H 18 ¥ Rufaad &9 W

aﬁmm%lwmaﬁm#ﬁm
I W AYGT n 9941 g1 N & forasr AT

k=l — 18K — & g Jahd 8§72

| /ﬁ b) 0 )1 d) can’t say
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257 When two numbers are separately divided by 33,

v
T\ (e the remainders are 21 and 28 respectively, if the
a b a.\-b’_),(l"_.{z’sum .o; twc?" Sumbers is divided by 33, the
_ ?5 33 remainder will be
22 &Y HEATHT FT AT T 33 F HOT AT W,

AYHS FAM: 21 3 28 §, I =t &t

, F 9T F 33 ¥ HAET @I I, ar A9Eh
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25@_Find the remainder when (1007 + 1008 + 1009 + 1010)

is divided by 6.
9 (1007 + 1008 + 1009 + 1010) & 6 F AT fe=m
6) yi(7 S dr AYE FAT FIMM?
/Yo a) 0 b) 1 pc3 d)3
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259. If two numbers are divided by the same

> 1 Y — 7 divider, the remainders are respectively 3

a ..b 0+b and 4. If the sum of the two numbers be

TT. )',)— / divided by the same divisor, the remainder is
he divisor is
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2 49.The remainder when 75 X 73 X 78 X 76 is
| . divided by 34 is:
X Z22=) 22 5.73x78x76 @ 34 & Rsnta
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B _ 2 - _)o/26|. Find the last two digits of 12899 X 96 X 997.
-l x “Yx -2= 12809 96 x 997 & JHAH &Y 3F A P
Qg x 96X9A7] [ #ss b) 78 c) 18 d) 48
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262 Find the last two digits of 98 X 17373 X 153 X

96 x 127.
98 x 17373 x 153 x 96 x 127 & 3ifa#w <
—2 x-Ax A%~ X A=AYsrF G AT
p 2a) 34 b) 64 c) 24 %4
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76> A number when divided by 6 leaves

inder 3. When the square of same
3 N?_ 3)‘3._)(?) :;nr:\abI:r |srd|V|ded by 6, theé;mamder is
N = NX UF WEAT F 6 @ AT & G AN 3
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2¢Y. When positive numbers x,y and z are

divided by 31 , the remainders are
17,24 and 27 , respectively. When
(4x - 2y + 3z)[ is divided by 31, the

remainder will be:

e UellcA® TE&AT x,y 3 z #r 31 @
Ranfea frar aar & a  FHAen
17,24 31X 27 AYGS yrod AT ¥ 9
(4x - 2y + 32) & 31 & fsnfoa @
ST &, A 9Ieq ANhe AT Hifog]

a) 19 b) 16 09 (8
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2¢5.Let ‘a’, ‘b’, ‘c’ be three integers which give 3,

'3)7\53(3—’17 4 and 8 remainders respectively when
divided by What is the_remainder if
DXAXA 3a + 5b +c.|s divided b
yg a,chﬁﬂ'W%mm45'\q‘
+2=Y fRenfora frar e ot FAw: 3, 4 T 8
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246.1f a number is divided by 129 leaves
remainder 27, if 4 times of this number is

L|<Ilq 'n"'ofz 7) divided by 86 then what will be the

remainder?
& Iy fret wEar @ 129 F ST AT ST
O +2a=33 A Y 27 Fuar §, IR T wEA F 4
"Uxl2G 1 o F 86 W FyfSIT fRAT ST # ar
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267 When a positive integer is divided by d, the
3 lox|S remainder is @ When ten times of the
N |OxXN [g O [WY+¢ same number is divided by d, the remainder
D

he least possible value of d is:
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10 ol 262 When a number N is divided by divisor D, it

2 leaves a remainder_10 and N? divided by D

_,\_I .LV_ 100 q6+‘1 leaves remainder 4. How many values of D
D D D D are possible?

/ J9 Bl HET N O # e D @
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ﬁdhtﬁqé N2® D ¥ Rsnfaa frar smar g ar Oy
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g 264.\f a number ‘N’ divided by a divisor D, of 2-
68 5% digits, gives a remainder 68. If 5N is divided
L\/_ 5'\I 240 222+¥ by D, it gives remainder 8, then, find value of
D D D D?

/ Ife AT ‘N HY 2-37H R HeH D W
fnfaa fFar smar ar AY 68 swar @
Jaderof 23% 25N @ o @ R R o 3
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97plet x be an odd natural number. If x is

divided by 6, it leaves a remainder y. If yZis

Y Ghd ]| %lsl 7|q divided by 4, it leaves remainder of z.
Which of the following must be true for z?

AT &F x tH QYA yefaes T&ar gl
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Z—)@ a)z=3 b)z=5
éfézl d) z is even
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